Assembly Instruction tor #4Uo double pedestal base & lable top

STEP 1: PLACE BLANKET OR WRAP ON FLOOR, THEN LAY TABLE WITH IT FACE
DOWN TO KEEP IT FROM SCRATCHING.

CAUTTON: IT TAKES 2 PERSONS TO FLIP OVER. THIS IS TO PREVENT INJURY AND DAMAGING OF
TABLE.

STEP 3: WHEN FLIPPING OVER TABLE, DO NOT PLACE WEIGHT ON CORNER AS
SH OR TIP USING TABLE TOP. MUST PICK UP WITH 2 PEOPLE TO PREVENT

DAMAGE OR INJURY.

L BASE TO

WITH FLOOR.
DOWN SECURELY, A W TR P A B
Mwmw_wcz TT TAKES 2 PERSONS 10 FLIP OVER. THIS IS 10 PREVENT INJURY AND DAVAGING OF — — —_—
Item Sketch Description Qty [Item Sketch Description Qty
@1/4" x 1-1/4" Allen bolt 10PCS Screws 1-1/16" 14PCS
A @ @1/2 Spring washer 10PCS| D — Screws 7/8" 16PCS
@13/16" Flat washer 10PCS| E @ 1-1/16"x1-1/16"x1/8 4PCS
@3/8" x 2-1/2" Allen bolt 8 PC|F 74— Allen Key 1 PC
B @1/2 Spring washer 8 PC G — Dowels 3/8 x 1-5/8" 16 PC
@13/16" Flat washer 8 PC




